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1. If you were collecting and storing 

information about your music 

collection, an album would be 

considered a(n) ________. 

(A)   Relation 

(B) Entity 

(C) Instance 

(D) Attribute 

 1. ;fn vki vius laxhr laxzg ds ckjs esa 

tkudkjh ,d= vkSj laxzghr dj jgs Fks] rks 

,d ,Yce dks (n) ________ ekuk 

tk,xkA 

(A) laca/k 

(B) bdkbZ 

(C) mnkgj.k 

(D) fo’ks”krk 

2. Which of the following gives a 

logical structure of the database 

graphically? 

(A)   Entity-relationship diagram 

(B) Entity diagram 

(C) Database diagram 

(D) Architectural representation 

 2. fuEufyf[kr eas ls dkSu xzkfQd :i ls 

MsVkcsl dh rkfdZd lajpuk nsrk gS\ 

(A) bdkbZ&laca/k vkjs[k 

(B) bdkbZ vkjs[k 

(C) MsVkcsl vkjs[k 

(D) LFkkiR; izfrfuf/kRo 

3. Drop Table cannot be used to drop 

a table referenced by a ______ 

constraint. 

(A)   Local key 

(B) Primary key 

(C) Composite  key 

(D) Foreign key 

 3. MªkWi Vscy dk mi;ksx________ ck/kk }kjk 

lanfHkZr rkfydk dks NksM+us ds fy, ugha 

fd;k tk ldrk gSA 

(A) LFkkuh; dqqath 

(B) IkzkFkfed dqath 

(C) lexz dqath 

(D) fons’kh dqath 
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4. The attribute AGE is calculated 

from DATE_OF_BIRTH. The 

attribute AGE is : 

(A)   Single valued 

(B) Multi valued 

(C) Composite  

(D) Derived 

 4. fo’ks”krk AGE dh x.kuk 

DATE_OF_BIRTHls dh tkrh gSA 

fo’ks”krk AGEgS% 

(A) ,dy ewY;oku 

(B) cgq ewY;oku 

(C) lexz 

(D) O;qRiUu 

5. Which of the following can be 

used to extract or filter the data & 

information form the data 

warehouse? 

(A)   Data redundancy 

(B) Data recovery tool 

(C) Data mining 

(D) Both (B) and (C) 

 5. MsVk os;jgkml ls MsVk vkSj tkudkjh dks 

fudkyus ;k fQYVj djus ds fy, fuEu esas 

ls fdldk mi;ksx fd;k tk ldrk gS\ 

(A) vk/kkj lkexzh vfrjsd 

(B) MsVk fjdojh Vwy 

(C) MsVk ekbfuax 

(D) (B) vkSj (C) nksuksa 

6. Which one of the following given 
statements possibly contains the 
error? 
(A)   Select * from emp where 

empid = 10003; 
(B) Select empid from emp 

where empid = 10006; 
(C) Select empid from emp; 
(D) Select empid where empid = 

1009 and Lastname = 
‘GELLER’; 

 6. fuEufyf[kr esa ls fdl dFku esa laHkor% =qfV 

gS\ 

(A) empidls * pqus tgka empid = 
10003; 

(B) empid ls ,EihM dk p;u djsa tgka 

empid = 10006; 
(C) empidls empiddk p;u djsa 

(D) empid dk p;u djsa tgka empid = 

1009 vkSj vafre uke = 
‘GELLER’; 
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7. Data warehouse architecture is 

based on: 

(A)   DBMS 

(B) RDBMS 

(C) SQL 

(D) ORACLE 

 7. MsVk os;jgkml vkfdZVsDpj ij vk/kkfjr gS% 

(A) Mh-ch-,e-,l- 

(B) vkj-Mh-ch-,e-,l- 

(C) ,l-D;w-,y- 

(D) vksjsdy 

8. Which of the following key is 

required in to handle the data when 

the encryption is applied to the 

data so that the unauthorised user 

cannot access the data? 

(A)   Primary key 

(B) Authorised key 

(C) Encryption key 

(D) Decryption key 

 8. MsVk ij ,fUØI’ku ykxw gksus ij MsVk dks 

laHkkyus ds fy, fuEu eas ls dkSu lh dqath 

dh vko’;drk gksrh gS rkfd vuf/k—r 

mi;ksxdrkZ MsVk rd ugha igqap lds\ 

(A) izkFkfed dqath 

(B) vf/k—r daqth 

(C) ,fUØI’ku daqth 

(D) fMfØI’ku daqth 

9. Which of the following is the best 

way to represent the attributes in a 

large db? 

(A)   Dot representation 

(B) Concatenation 

(C) Relational-and 

(D) All of the mentioned 

 9. fuEufyf[kr esa ls dkSu ,d cM+s MhCkh esa 

fos’k”krkvksa dk izfrfuf/kRo djus dk lcls 

vPNk rjhdk gS\ 

(A) MkWV izfrfuf/kRo 

(B) la;kstu 

(C) laca/kijd&vkSj 

(D) lHkh mYysf[kr 
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10. 

 

 

 

 

 

 

In which of the following formats 

data is stored in the database 

management system? 

(A)   Image 

(B) Text 

(C) Table 

(D) Graph 

 10. 

 

 

 

 

 

 

MsVkcsl eSustesaV flLVe esa MsVk dks fuEu esa 

ls fdl QkWesZV esa LVksj fd;k tkrk gS\ 

(A) fp= 

(B) ikB 

(C) rkfydk 

(D) xzkQ 

11. Which of the following is the 

oldest database model? 

(A)   Relational 

(B) Deductive 

(C) Physical 

(D) Network 

 11. fuEufyf[kr essa ls dkSu lcls iqjkuk MsVkcsl 

ekWMy gS\ 

(A) laca/kijd 

(B) fuxeukRed 

(C) HkkSfrd 

(D) usVodZ 

12. A collection of data designed to be 

used by different people is called 

a/an: 

(A)   Organization 

(B) Database 

(C) Relationship 

(D) Schema 

 12. fofHkUu yksxksa }kjk mi;ksx fd, tkus ds fy, 

fMt+kbu fd, x, MsVk ds laxzg dks a/an 

dgk tkrk gS% 

(A) laxBu 

(B) MsVkcsl 

(C) laca/k 

(D) Ldhek 
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13. To obtain the structure of an 
Oracle table, the command to use 
is: 
(A)   STRUCTURE [Table Name] 
(B) DESCRIBE [Table Name] 
(C) DESCRIBE STRUCTURE 

[Table Name] 
(D) DESC TABLE [Table Name] 

 13. Oracle rkfydk dh lajpuk izkIr djus ds 

fy,] mi;ksx djus ds fy, dekaM gS% 

(A) lajpuk [rkfydk dk uke] 

(B) o.kZu [rkfydk dk uke] 

(C) lajpuk dk o.kZu djsa [rkfydk dk 

uke] 

(D) fooj.k rkfydk [rkfydk uke] 

14. ______ commands in SQL allow 
controlling access to data within 
database. 
(A)   Database 
(B) Data 
(C) Data control 
(D) All of the Mentioned 

 14. SQL esa _______ dekaM MsVkcsl ds Hkhrj 

MsVk rd igqap dks fu;af=r djus dh vuqefr 

nsrk gSA 

(A) MsVkcsl 

(B) MsVk 

(C) MsVk fu;a=.k 

(D) lHkh mYysf[kr 

15. A table that displays data 
redundancies yields_______ 
anomalies. 
(A)   Update 
(B) Insertion 
(C) Deletion 
(D) All of the Mentioned 

 15. ,d rkfydk tks MsVk vfrjsd iznf’kZr djrh 

gS] _______folaxfr;k¡ mRiUu djrh gSA 

(A) v|ru 

(B) lfEeyu 

(C) gVkuk 

(D) lHkh mYysf[kr 

16. Identify the criteria for designing 

database from the point of view of 

user: 

(A)   No redundancy 

(B) No inapplicable attributes 

(C) Uniformity in naming & 

definitions of the data items 

(D) All of the Mentioned 

 16. mi;ksxdrkZ ds ǹf”Vdks.k ls MsVkcsl fMtkbu 

djus ds ekunaM dh igpku djsa% 

(A) dksbZ vfrjsd ugha 

(B) dksbZ vuqi;qDr xq.k ugha 

(C) MsVk enksa ds ukedj.k vkSj ifjHkk”kkvksa 

esa ,d:irk 

(D) lHkh mYysf[kr 
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17. The relational model feature is that 

there: 

(A)   Is no need for primary key 

data 

(B) is much more data 

independence than some 

other database models 

(C) Are explicit relationships 

among records  

(D) Are tables with many 

dimensions 

 17. laca/kijd ekWMy fo’ks”krk ;g gS fd ogk¡% 

(A) izkFkfed dqath MsVk dh dksbZ 

vko’;drk ugha gS 

(B) dqN vU; MsVkcsl ekWMy dh rqyuk esa 

cgqr vf/kd MsVk Lora=rk gS 

(C) vfHkys[kksa ds chp Li”V laca/k gSa 

(D) dbZ vk;keksa okyh Vscy gSa 

18. Which of the following statements 

is not correct? 

(A)   The primary key must be 

unique for a given table 

(B) Specifying a zero (0) for the 

lower bound for the 

association multiplicity on a 

class diagram indicates that 

the item is required 

(C) Specifying a one (1) for the 

lower bound for the 

association multiplicity on a 

class diagram indicates that 

the item is required  

(D) Most databases allow 

multiple records that are 

identical 

 18. fuEufyf[kr esa ls dkSu lk dFku lgh ugha 

gS\ 

(A) nh xbZ rkfydk ds fy, izkFkfed dqath 

vf}rh; gksuh pkfg, 

(B) ,d oxZ vkjs[k ij ,lksfl,’ku 

cgqyrk ds fy, fupyh lhek ds fy, 

‘kwU; (0) fufnZ”V djuk bafxr djrk gS 

fd vkbVe dh vko’;drk gS 

(C) ,d oxZ vkjs[k ij ,lksfl,’ku 

cgqyrk ds fy, fupyh lhek ds fy, 

,d (1) fufnZ”V djuk bafxr djrk gS 

fd vkbVe dh vko’;drk gS 

(D) vf/kdka’k MsVkcsl ,d tSls dbZ fjdkWMZ 

dh vuqefr nsrs gSA 
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19. Which key accepts multiple NULL 

values? 

(A)   Foreign key 

(B) Unique key 

(C) Primary key 

(D) None of the Mentioned 

 19. dkSu lh dqath ,dkf/kd NULL eku 

Lohdkj djrh gS\ 

(A) fons’kh dqath 

(B) vf}rh; dqath 

(C) izkFkfed dqath 

(D) mYysf[kr eas ls dksbZ ugha 

20. What is true about Unique and 

primary key?  

(A)   Unique can have multiple 

NULL values but primary 

can’t have 

(B) Unique can have single 

NULL value but Primary 

can’t have even single 

(C) Both can have duplicate 

values 

(D) None of the Mentioned 

 20. Unique vkSj Primary key ds ckjs esa D;k 

lp gS\ 

(A) vf}rh; esa dbZ NULL eku gks 

ldrs gSa ysfdu izkFkfed esa ugha gks 

ldrs 

(B) ;wfud dk flaxy NULL oSY;w gks 

ldrk gS ysfdu izkbejh esa flaxy Hkh 

ugha gks ldrk gS 

(C) nksuksa esa MqfIydsV eku gks ldrs gS 

(D) mYysf[kr esa ls dksbZ ugha 

21. Which of the following is not a 

key in SQL? 

(A)   Primary 

(B) Foreign 

(C) Alternate 

(D) Secondary 

 21. fuEu esa ls SQL esa Key ugha gS\ 

(A) izkFkfed 

(B) fons’kh 

(C) oSdfYid 

(D) ek/;fed 
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22. A _______ key is a minimal super 

key. 

(A)   Primary 

(B) Foreign 

(C) Candidate 

(D) Non-Prime 

 22. ,d ________ dqath ,d U;wure lqij 

daqth gSA 

(A) izkFkfed 

(B) fons’kh 

(C) mEehnokj 

(D) xSj iz/kku 

23. How can a SQL developer add a 

key on a table? 

(A)   While creating a table 

(B) With Alter table command 

(C) With SQL server Properties 

window 

(D) All of the Mentioned 

 23. SQL Msoyij fdlh Vscy ij ,d dqath 

dSls tksM+ ldrk gS\ 

(A) Vscy cukrs le; 

(B) vkWYVj Vscy dekaM ds lkFk 

(C) SQL loZj xq.k foaMks ds lkFk 

(D) lHkh mYysf[kr 

24. Which of the following is not a 

restriction for a table to be a 

relation? 

(A)   The cells of the table must 

contain a single value 

(B) All of the entries in any 

column must be of the same 

kind 

(C) The columns must be ordered 

(D) No two rows in a table may 

be identical 

 24. fuEu esa ls dkSu lk rkfydk ds laca/k gksus 

ds fy, izfrca/k ugha gS\ 

(A) rkfydk ds d{kksa esa ,d gh eku gksuk 

pkfg, 

(B) fdlh Hkh dkWye esa lHkh izfof”V;ka ,d 

gh izdkj dh gksuh pkfg, 

(C) dkWye dk vkns’k fn;k tkuk pkfg, 

(D) fdlh rkfydk esa dksbZ Hkh nks iafDr;k¡ 

leku ugha gks ldrhA 
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25. Every time attribute A appears, it 

is matched with the same value of 

attributeB, but not the same value  

of attribute C. Therefore, it is true 

that: 

(A)   A -> B 

(B) A -> C 

(C) A -> (B, C) 

(D) (B, C) -> A 

 25. gj ckj fo’ks”krk A izdV gksrh gS] ;g 

fo’ks”krk B ds leku eku ls esy [kkrh gS] 

ysfdu fo’ks”krk C ds leku eku ls ughaA 

blfy,] ;g lR; gS fd% 

(A)   A -> B 

(B) A -> C 

(C) A -> (B, C) 

(D) (B, C) -> A 

26. Anomalies are avoided by splitting 

the offending relation into multiple 

relations, is also known as: 

(A)   Accupressure 

(B) Decomposition 

(C) Precomposition 

(D) Both Decomposition and 

Precomposition 

 26. vkifÙktud laca/kksa dks dbZ laca/kksa esa 

foHkkftr djds folaxfr;ksa ls cpk tkrk gS] 

bls ds :i eas Hkh tkuk tkrk gS% 

(A) ,D;wizs’kj 

(B) vi?kVu 

(C) iwoZ jpuk 

(D) vi?kVu vkSj iwoZ jpuk nksuksa 

27. In a given relationship R, if an 

attribute A uniquely defines all 

other attributes, then the attribut A 

is a key attribute which is also 

known as the _______ key. 

(A)   Candidate 

(B) Join 

(C) Functional 

(D) None of the Mentioned 

 27. fdlh fn, x, laca/k Resa] ;fn ,d fo’ks”krk 

AvU; lHkh fo’ks”krkvksa dks fof’k”V :i ls 

ifjHkkf”kr djrh gS] rks fo’ks”krk A ,d izeq[k 

fo’ks”krk gS ftls ______dqath ds :i esa Hkh 

tkuk tkrk gSA 

(A) mEehnokj  

(B) ‘kkfey gksa 

(C) dk;kZRed 

(D) mYysf[kr eas ls dksbZ ugha 
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28. Every constraint on the table is a 

logical consequence of the table’s: 

(A)   Fourth normal from 

(B) Fifth normal from 

(C) Domain/key normal from 

(D) None of the Mentioned 

 28. Table ij izR;sd ck/kk rkfydk dk rkfdZd 

ifj.kke gS% 

(A) pkSFkk lkekU; :i 

(B) ikapoka lkekU; :i 

(C) Mksesu@dqath lkekU; :i 

(D) mYysf[kr eas ls dksbZ ugha 

29. A table is in BCNF if it is in 3NF 

and if every determinant is a 

________ key. 

(A)   Dependent 

(B) Normal 

(C) Candidate 

(D) Both Normal and Candidate 

 29. ,d rkfydk ch-lh-,u-,Q- esa gS ;fn og 3 

,u-,Q- esa gS vkSj ;fn izR;sd fu/kkZjd ,d 

_____ dqath gSA 

(A) vkfJr 

(B) lkekU; 

(C) mEehnokj 

(D) lkekU; vkSj mEehnokj nksuksa 

30. Every Boyee-Codd normal form is 

in: 

(A)   First normal form 

(B) Second normal form 

(C) Third normal form 

(D) All of the above 

 30. izR;sd Boyee-Codd lkekU; :i esa gS% 

(A) igyk lkekU; :i 

(B) nwljk lkekU; :i 

(C) rhljk lkekU; :i 

(D) Åij ds lHkh 

31. 4NF is designed to cope with: 

(A)   Transitive dependency 

(B) Join dependency 

(C) Multi valued dependency 

(D) None of these 

 31. 4NFdks blls fuiVus ds fy, fMt+kbu 

fd;k x;k gS% 

(A) ldeZd fuHkZjrk 

(B) fuHkZjrk eas ‘kkfey gksa 

(C) cgq ewY;oku fuHkZjrk 

(D) buesa ls dksbZ ugha 
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32. Prevention of access to the 

database by unauthorized users is 

referred to as: 

(A)   Integrity 

(B) Productivity 

(C) Security 

(D) Reliability 

 32. vuf/k—r mi;ksxdrkZvkas }kjk MsVkcsl rd 

igqap dh jksdFkke dks dgk tkrk gS% 

(A) v[kaMrk 

(B) mRikndrk 

(C) lqj{kk 

(D) fo’oluh;rk 

33. Third normal form is based on the 

concept of______. 

(A)   Closure Dependency 

(B) Transitive Dependency 

(C) Normal Dependency 

(D) Functional Dependency 

 33. rhljk lkekU; :i _______ dh vo/kkj.kk 

ij vk/kkfjr gSA 

(A) can fuHkZjrk 

(B) ldeZd fuHkZjrk 

(C) lkekU; fuHkZjrk 

(D) dk;kZRed fuHkZjrk 

34. A relation is in 2NF if: 
(A)   All the values of non-key 

attributes are dependent fully 
on the candidate key 

(B) Any non-key attribute that 
are dependent on only part of 
the candidate key should be 
moved to another relation 
where the partial key is the 
actual full key 

(C) It must be already in the 1NF 
(D) All of the above 

 34. ,d laca/k 2NF esa gS ;fn% 

(A) xSj&dqath fo’ks”krkvksa ds lHkh ewY; 

iwjh rjg ls mEehnokj dqath ij fuHkZj 

gSa 

(B) dksbZ Hkh xSj&dqath fo’ks”krk tks 

mEehnokj dqath ds dsoy Hkkx ij 

fuHkZj gS] mls nwljs laca/k esa ys tk;k 

tkuk pkfg, tgka vkaf’kd dqath 

okLrfod iw.kZ dqath gS 

(C) ;g igys ls gh 1NF esa gksuk pkfg, 

(D) mijksDr lHkh 
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35. Consider the schema R(S,T,U,V) 
and the dependencies S → T, T →
U, U → V, V → S.  
Let  R ={R1,R2} such that R1∩R2 
=Φ. Then the decomposition is: 
(A)   Not in 2NF 
(B) In 2NF but not in 3NF 
(C) In 3NF but not in 2NF 
(D) In both 2NF and 3NF 

 35. Ldhek vkj ¼,l] Vh] ;w] oh½ vkSj fuHkZjrk 

,l → Vh] Vh → ;w] ;w → oh] oh → ,l ij 

fopkj djsaA pyks R ={R1,R2},slk gS 

fdR1∩R2 =Φ rc vi?kVu gS% 

(A) 2NF esa ugha 

(B) 2NF esa ysfdu 3NF esa ugha 

(C) 3NF esa ysfdu 2NF esa ugha 

(D) 2NF vkSj 3NF nksuksa esa 

36. If one attribute is determinant of 
second, which in turn is 
determinant of third, them the 
relation cannot be: 
(A)   Well-structured 
(B) 1NF 
(C) 2NF 
(D) 3NF 

 36. ;fn ,d fo’ks”krk nwljs dk fu/kkZjd gS] tks 

cnys esa rhljs dk fu/kkZjd gS] rks laca/k ugha 

gks ldrk% 

(A) vPNh rjg ls lajfpr 

(B) 1 ,u-,Q- 

(C) 2 ,u-,Q- 

(D) 3 ,u-,Q- 

37. Which functional dependency 

types is/are not present in the 

following dependencies? 

Empno ->EName, Salary, Deptno, 

DName 

Dept No -> DName 

Emp No -> DName 

(A)   Full functional dependency 

(B) Partial functional dependency 

(C) Transitive functional 

dependency 

(D) Both (B) and (C) 

 37. fuEufyf[kr fuHkZjrkvksa esa dkSu ls dk;kZRed 

fuHkZjrk izdkj ekStwn gSa@ugha gSa\ 

Empno -> EName osru Deptno, 

DName 

foHkkx la[;k ->Mh-,u-,e- 

Emp No -> DName 

(A) iw.kZ dk;kZRed fuHkZjrk 

(B) vkaf’kd dk;kZRed fuHkZjrk 

(C) ldeZd fØ;kRed fuHkZjrk 

(D) (B)vkSj (C)nksuksa 
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38. A functional dependency is a 

relationship between or among: 

(A)   Entities 

(B) Rows 

(C) Attributes 

(D) Tables 

 38. ,d dk;kZRed fuHkZjrk ds chp ;k ds chp 

,d laca/k gS% 

(A) LkaLFkk,a 

(B) iafDr;ksa 

(C) xq.k 

(D) VscYl 

39. Entity is a: 

(A)   Object of relation 

(B) Present working model 

(C) Thing in real world 

(D) Model of relation 

 39. bdkbZ gS% 

(A) laca/k dh oLrq 

(B) orZeku dkedkth ekWMy 

(C) okLrfod nqfu;k esa ckr 

(D) laca/k dk ekWMy 

40. An ______ is a set of entities of 

the same type thatshare the same 

properties, or attributes. 

(A)   Entity set 

(B) Attribute set 

(C) Relation set 

(D) Entity model 

 40. ,d ,d gh izdkj dh laLFkkvksa dk ,d lewg 

gS tks leku xq.k] ;k fo’ks”krk,¡ lk>k djrs 

gSaA 

(A) bdkbZ lsV 

(B) fo’ks”krk lsV 

(C) laca/k lsV 

(D) bdkbZ ekWMy 

41. OLAP stands for: 

(A)   Online analytical processing 

(B) Online analysis processing 

(C) Online transaction processing 

(D) Online aggregate processing 

 41. OLAP dk eryc gS% 

(A) vkWuykbu fo’ys”k.kkRed izlaLdj.k 

(B) vkWuykbu fo’ys”k.k izlaLdj.k 

(C) vkWuykbu ysunsu izlaLdj.k 

(D) vkWuykbu dqy izlaLdj.k 
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42. What do data warehouses support? 

(A)   OLAP 

(B) OLTP 

(C) OLAP and OLTP 

(D) Operational databases 

 42. MsVk os;jgkml D;k leFkZu djrs gSa\ 

(A) vks-,y-,-ih- 

(B) vks-,y-Vh-ih- 

(C) vks-,y-,-ih- vkSj vks-,y-Vh-ih- 

(D) ifjpkyu MsVkcsl 

43. Ranking of queries is done by 

which of the following? 

(A)   Group by 

(B) Order by 

(C) Having 

(D) Both (A) and (B) 

 43. iz’uksa dh jSafdax fuEu esa ls fdlds }kjk dh 

tkrh gS % 

(A) lewg }kjk 

(B) }kjk vkns’k 

(C) gksus 

(D) (A)vkSj (B)nksuksa 

44. ______ will undo all statements up 

to commit? 

(A)   Transaction 

(B) Flashback 

(C) Rollback 

(D) Abort 

 44. izfrc) djus ds fy, lHkh dFkuksa dks iwoZor 

dj nsxk\ 

(A) ysunsu 

(B) ¶yS’kcSd 

(C) jksycSd 

(D) Abort 

45. A transaction completes its 

execution is said to be: 

(A)   Committed 

(B) Aborted 

(C) Rolled back 

(D) Failed 

 45. ,d ysu&nsu vius fUk”iknu dks iwjk djrk 

gS] dgk tkrk gS% 

(A) izfrc) 

(B) fujLr 

(C) okil yq<+d x;k 

(D) foQy 
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46. In order to maintain the 

consistency during transactions 

database provides: 

(A)   Commit 

(B) Atomic 

(C) Flashback 

(D) Retain 

 46. ysunsu ds nkSjku fujarjrk cuk, j[kus ds 

fy, MsVkcsl iznku djrk gS% 

(A) izfrc) 

(B) ijek.kq 

(C) ¶yS’kcSd 

(D) cuk, j[kuk 

47. In case of any shut down during 
transaction before commit which 
of the following statement is done 
automatically? 
(A)   View 
(B) Commit 
(C) Rollback 
(D) Flashback 

 47. izfrc) gksus ls igys ysunsu ds nkSjku fdlh 

Hkh ‘kV Mkmu ds ekeys esa fuEufyf[kr esa ls 

dkSu lk dFku Lopkfyr :i ls fd;k tkrk 

gS\ 

(A) n’̀; 

(B) izfrc) 

(C) jksycSd 

(D) ¶yS’kcSd 

48. A ________ consists of sequence 
of query and/or update statements. 
(A)   Transaction 
(B) Commit 
(C) Rollback 
(D) Flashback 

 48. A ________ eas Dosjh vkSj@;k viMsV 

LVsVesaV dk ,d Øe gksrk gSA 

(A) ysunsu 

(B) izfrc) 

(C) jksycSd 

(D) ¶yS’kcSd 

49. Update instructor 
_______ salary = salary * 1.05; 
Fill in with correct keyword to 
update the instructor-relation. 
(A)   Where 
(B) Set 
(C) In 
(D) Select 

 49. v|ru izf’k{kd 

osru = osru * 1.05; 

baLVªDVj fjys’ku dks viMsV djus ds fy, 

lgh dhoMZ HkjsaA 

(A) tgka 

(B) lsV 

(C) bu 

(D) pqusa 
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50. Delete from r where P; 

The above command 

(A)   Deletes a particular tuple 

from the relation 

(B) Deletes the relation 

(C) Clears all entries from the 

relation 

(D) All of the mentioned 

 50. r ls gVk,a tgka P; 

mijksDr vkns’k 

(A) laca/k ls ,d fo’ks”k Viy dks gVkrk gS 

(B) laca/k gVkrk gS 

(C) laca/k ls lHkh izfof”V;kas dks lkQÛ 

djrk gS 

(D) lHkh mfYyf[kr 

51. The primary key must be: 

(A)   Unique 

(B) Not null 

(C) Both (A) and (B) 

(D) Either (A) or (B) 

 51. izkFkfed dqath gksuh pkfg,% 

(A) Unique 

(B) ‘kwU; ugha 

(C) (A) vkSj (B)nksuksa  

(D) ;k rks (A);k (B) 

52. Data independence means: 

(A)   Data is defined separately 

and not included in programs 

(B) Programs are not dependent 

on the physical attributes of 

data 

(C) Programs are not dependent 

on the logical attributes of 

data 

(D) Both (B) and (C) 

 52. MsVk Lora=rk dk vFkZ gS% 

(A) MsVk vyx ls ifjHkkf”kr fd;k x;k gS 

vkSj dk;ZØeksa esa ‘kkfey ugha gS 

(B) izksxzke MsVk dh HkkSfrd fo’ks”krkvksa ij 

fuHkZj ugha gS 

(C) izksxzke MsVk dh rkfdZd fo’ks”krkvksa ij 

fuHkZj ugha gSa 

(D) nksuksa (B)vkSj (C) 
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53. An advantage of the database 

management approach is: 

(A)   Data is dependent on 

programs 

(B) Data redundancy increases 

(C) Data is integrated and can be 

accessed by 

(D) None of the above 

 53. MsVkcsl izca/ku nf̀”Vdks.k dk ,d ykHk gS% 

(A) MsVk dk;ZØeksa ij fuHkZj gS 

(B) MsVk fjMaMsalh c<+ tkrh gS 

(C) MsVk ,dhd̀r gS vkSj dbZ dk;ZØeksa 

}kjk igqapk tk ldrk gS 

(D) mijksDr esa ls dksbZ ugha 

54. The way a particular application 
views the data from the database 
that the application uses is a: 
(A)   Module 
(B) Relational model 
(C) Schema 
(D) Subschema 

 54. ftl rjg ls dksbZ fo’ks”k ,fIyds’ku ml 

MsVkcsl ls MsVk dks ns[krk gS tks ,fIyds’ku 

mi;ksx djrk gS og gS a: 

(A) ekWMîwy 

(B) laca/kijd ekWMy 

(C) Ldhek 

(D) mi;kstuk 

55. The database environment has all 
of the following components 
except: 
(A)   Users 
(B) Separate files 
(C) Database 
(D) Database administrator 

 55. MsVkcsl okrkoj.k esa fuEufyf[kr lHkh ?kVd 

gksrs gSa flok;% 

(A) mi;ksxdrkZ 

(B) vyx Qkbysa 

(C) MsVkcsl 

(D) MsVkcsl iz’kkld 

56. Related fields in a database are 
grouped to form a: 
(A)   Data file 
(B) Data record 
(C) Menu 
(D) Bank 

 56. MsVkcsl esa lacaf/kr {ks=ksa dks ,d cukus ds 

fy, lewghd̀r fd;k tkrk gS% 

(A) MsVk QÛkby 

(B) MsVk fjdkWMZ 

(C) esuw 

(D) cSad 
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57. In tuple relational calculus 

P1 ® P2 is equivalent to: 

(A)  ¬P1Uሖ P2 

(B) P1Uሖ P2 

(C) P1Uሗ P2 

(D) P1Uሗ ¬P2 

 57. Viy fjys’kuy dSydqyl esa P1 ® P2 

cjkcj gS% 

(A)  ¬P1Uሖ P2 

(B) P1Uሖ P2 

(C) P1Uሗ P2 

(D) P1Uሗ ¬P2 

58. In a relational model, relations are 

termed as: 

(A)   Tuples 

(B) Attributes 

(C) Tables 

(D) Rows 

 58. ,d laca/kijd ekWMy esa] laca/kksa dks dgk 

tkrk gS% 

(A) VqiYl 

(B) xq.k 

(C) VscYl 

(D) iafDr;k¡ 

59. Cartesian product in relational 

algebra is: 

(A)   A Unary operator 

(B) A Binary operator 

(C) A Ternary operator 

(D) Not defined 

 59. laca/kijd chtxf.kr esa dkrhZ; xq.kuQy gS% 

(A) ,d ;wujh vkWijsVj 

(B) ,d ckbujh vkWijsVj 

(C) ,d VuZjh vkWijsVj 

(D) ifjHkkf”kr ugha gS 

60. In the E-Rdiagram generalization 

is represented by: 

(A)   Ellipse 

(B) Dashed ellipse 

(C) Rectangle 

(D) Triangle 

 60. bZ&vkj vkjs[k esa lkekU;hdj.k }kjk n’kkZ;k 

x;k gS% 

(A) vaMkdkj 

(B) MS’M vaMkdkj 

(C) vk;r 

(D) f=dks.k 
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61. A logical schema: 

(A)   Is the entire database 

(B) Is a standard way 

oforganizing information into 

an accessible part 

(C) Describe how data is actually 

stored on disk 

(D) None of these 

 61. ,d rkfdZd Ldhek% 

(A) laiw.kZ MsVkcsl gS 

(B) lwpuk dks ,d lqyHk fgLls esa 

O;ofLFkr djus dk ,d ekud rjhdk 

gS 

(C) o.kZu djsa fd fMLd ij MsVk okLro esa 

dSls laxzghr fd;k tkrk gS 

(D) buesa ls dksbZ ugha 

62. To delete a particular column in a 

relation the command used is: 

(A)   UPDATE 

(B) DROP 

(C) ALTER 

(D) DELETE 

 62. laca/k esa fdlh fo’ks”k dkWye dks gVkus ds 

fy, mi;ksx fd;k tkus okyk dekaM gS% 

(A) v|ru 

(B) MªkWi 

(C) oSdfYid 

(D) gVk,a 

63. In E-R Diagram relationship type 

is represented by: 

(A)   Ellipse 

(B) Dashed ellipse 

(C) Rectangle 

(D) Diamond 

 63. bZ&vkj vkjs[k esa laca/k izdkj dks fdlds 

}kjk n’kkZ;k tkrk gS\ 

(A) vaMkdkj 

(B) MS’M vaMkdkj 

(C) vk;r 

(D) ghjk 

64. In E-r Diagram derived attribute is 

represented by: 

(A)   Ellipse 

(B) Dashed ellipse 

(C) Rectangle 

(D) Triangle 

 64. bZ&vkj vkjs[k esa O;qRiUUk fo’ks”krk dk 

izfrfuf/kRo }kjk fd;k tkrk gS% 

(A) vaMkdkj 

(B) MS’M vaMkdkj 

(C) vk;r 

(D) f=dks.k 
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65. A primary key is combined with a 
foreign key creates: 
(A)   Parent-Child relationship 

between the tables that 
connect them 

(B) Many to many relationships 
between the tables that 
connect them 

(C) Network model between the 
tables that connect them 

(D) None of the above 

 65. ,d izkFkfed dqath dks ,d fons’kh dqath ds 

lkFk tksM+k tkrk gS% 

(A) mUgsa tksM+us okyh rkfydkvksa ds chp 

ekrk&firk&cky laca/k 

(B) rkfydkvksa ds chp dbZ ls dbZ laca/k 

tks mUgsa tksM+rs gSa 

(C) rkfydkvksa ds chp usVodZ ekWMy tks 

mUgsa tksM+rk gS 

(D) mijksDRk esa ls dksbZ ugha 

66. A data dictionary is a special file 

that contains: 

(A)   The name of all fields in all 

files 

(B) The width of all fields in all 

files 

(C) The data type of all fields in 

all files 

(D) All of the above 

 66. MsVk fMD’kujh ,d fo’ks”k QÛkby gS ftlesa 

‘kkfey gS% 

(A) lHkh Qkbyksa esa lHkh {ks=ksa dk uke 

(B) lHkh Qkbyksa esa lHkh {ks=ksa dh pkSM+kbZ 

(C) lHkh Qkbyksa esa lHkh {ks=ksa dk MsVk 

izdkj 

(D) mijksDr lHkh 

67. Null is: 

(A)   The same as 0 for integer 

(B) The same as blank for 

character 

(C) The same as 0 for integer and 

blank for character 

(D) Not a value 

 67. Null gS% 

(A) iw.kkZad ds fy, 0 ds leku 

(B) pfj= ds fy, fjDr ds leku 

(C) iw.kkZad ds fy, 0 ds leku vkSj o.kZ 

ds fy, fjDr 

(D) ,d ewY; ugha 
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68. Which of the following is another 

name for the week entity? 

(A)   Child 

(B) Owner 

(C) Dominant 

(D) All of the above 

 68. fuEu esa ls dkSu detksj bdkbZ dk nwljk 

uke gS\ 

(A) cPpk 

(B) ekfyd 

(C) izHkqRo okyk 

(D) mijksDr lHkh 

69. Which of the following is a 

comparison operator in SQL? 

(A)   = 

(B) LIKE 

(C) BETWEEN 

(D) All of the above 

 69. fuEufyf[kr esa ls dkSu SQL esa ,d rqyuk 

vkWijsVj gS\ 

(A)   = 

(B) LIKE 

(C) ds chp 

(D) mijksDr lHkh 

70. Which database level is closest to 

the users? 

(A)   External 

(B) Internal 

(C) Physical 

(D) Conceptual 

 70. dkSu lk MsVkcsl Lrj mi;ksxdrkZvksa ds 

lcls djhc gS\ 

(A) ckgjh 

(B) vkarfjd 

(C) HkkSfrd 

(D) oSpkfjd 

71. The RDBMS terminology for a 

row is: 

(A)   Tuple 

(B) Relation 

(C) Attribute 

(D) Degree 

 71. ,d iafDr ds fy, RDBMS ‘kCnkoyh gS% 

(A) Vqiy 

(B) laca/k 

(C) fo’ks”krk 

(D) fMxzh 
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72. Which of the following is correct: 

(A)   A SQL query automatically 

eliminates duplicates 

(B) SQL permits attribute names 

to be repeated in the same 

relation 

(C) a SQL query will not work if 

there are no indexes on the 

relations 

(D) None of these 

 72. fuEu esa ls dkSu lk lgh gS% 

(A) ,d ,l-D;w-,y- Dosjh Lopkfyr :i 

ls MqfIydsV dks gVk nsrh gS 

(B) ,l-D;w-,y- ,d gh laca/k esa fo’ks”krk 

ukeksa dks nksgjkus dh vuqefr nsrk gS 

(C) ;fn laca/kksa ij dksbZ vuqØef.kdk ugha 

gS rks ,l-D;w-,y- Dosjh dke ugha 

djsxh 

(D) buesa ls dksbZ ugha 

73. Which of the following are the 

properties of entities? 

(A)   Groups 

(B) Table 

(C) Attributes 

(D) Switchboards 

 73. fuEufyf[kr esa ls dkSu lh laLFkkvksa ds xq.k 

gSa \ 

(A) lewg 

(B) rkfydk 

(C) xq.k 

(D) fLoPkcksMZ 

74. DBMS helps achieve: 

(A)   Data independence 

(B) Centralised control of data 

(C) Neither (A) and (B) 

(D) Both (A) and (B) 

 74. Mh-ch-,e-,l- gkfly djus esa enn djrk gS% 

(A) MsVk Lora=rk 

(B) MsVk dk dsanzh—r fu;a=.k 

(C) u rks (A) ;k (B) 

(D) nksuksa (A) vkSj (B) 
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75. Key to represent the relationship 

between tables is called: 

(A)   Primary key 

(B) Secondary key 

(C) Foreign key 

(D) None of these 

 75. rkfydkvksa ds chp laca/k dks n’kkZus okyh 

dqath dgykrh gS% 

(A) izkFkfed dqath 

(B) ek/;fed dqath 

(C) fons’kh dqath 

(D) buesa ls dksbZ ugha 

76. Relational Algebra is: 

(A)   Data definition Language 

(B) Meta Language 

(C) Procedural Query Language 

(D) None of the above 

 76. laca/kijd chtxf.kr gS% 

(A) MsVk ifjHkk”kk Hkk”kk 

(B) esVk Hkk”kk 

(C) izfØ;kRed iz’u Hkk”kk 

(D) mijksDr esa ls dksbZ ugha 

77. An advantage of the database 

management approach is: 

(A)   Data is dependent on 

programs 

(B) Data redundancy increases 

(C) Data is integrated and can be 

accessed by multiple 

programs 

(D) None of the above 

 77. MsVkcsl izca/ku nf̀”Vdks.k dk ,d ykHk gS % 

(A) MsVk dk;ZØeksa ij fuHkZj gS 

(B) MsVk fjMaMsalh c<+ tkrh gS 

(C) MsVk ,dh—r gS vkSj dbZ dk;ZØeksa 

}kjk igqapk tk ldrk gS 

(D) mijksDr esa ls dksbZ ugha 

78. In an E-R diagram an entity set is 
represented by a: 
(A)   Rectangle 
(B) Ellipse 
(C) Diamond box 
(D) Circle 

 78. ,d bZ&vkj vkjs[k esa ,d bdkbZ lsV dks a 
}kjk n’kkZ;k tkrk gS % 
(A) vk;r 
(B) vaMkdkj 
(C) ghjk ckWDl 
(D) ldZy 
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79. In case of entity integrity, the 

primary key may be: 

(A)   Not null 

(B) Null 

(C) Both Null & not Null 

(D) Any value 

 79. bdkbZ v[kaMrk ds ekeys esa] izkFkfed dqath 

gks ldrh gS% 

(A) ‘kwU; ugha 

(B) ‘kwU; 

(C) nksuksa ‘kwU; vkSj ‘kwU; ugha 

(D) dksbZ ewY; 

80. In an E-R diagram attributes are 

represented by: 

(A)   Rectangle 

(B) Square 

(C) Ellipse 

(D) Triangle 

 80. ,d bZ&vkj vkjs[k esa fo’ks”krkvksa dk 

izfrfuf/kRo fd;k tkrk gS% 

(A) vk;r 

(B) oxZ 

(C) vaMkdkj 

(D) f=dks.k 

81. In the architecture of a data base 

system external level is the: 

(A)   Physical level 

(B) Logical level 

(C) Conceptual level 

(D) View level 

 81. ,d MsVkcsl flLVe ds vkfdZVsDpj esa ckgjh 

Lrj gksrk gS % 

(A) ‘kkjhfjd Lrj 

(B) rkfdZd Lrj 

(C) oSpkfjd Lrj 

(D) Lrj ns[ksa 

82. DML is provided for: 
(A)   Description of the logical 

structure of a database 
(B) The addition of new 

structures in the database 
system 

(C) Manipulation & processing of 
the database 

(D) Definition of a physical 
structure of the database 
system 

 82. Mh-,e-,y ds fy, iznku fd;k tkrk gS% 

(A) MsVkcsl dh rkfdZd lajpuk dk 

fooj.k 

(B) MsVkcsl flLVe esa ubZ lajpukvksa dks 

tksM+uk 

(C) MsVkcsl dk gsjQsj vkSj izlaLdj.k 

(D) MsVkcsl flLVe dh HkkSfrd lajpuk dh 
ifjHkk”kk 
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83. The architecture of a database can 

be viewed as the _______. 

(A)   One level 

(B) Two level 

(C) Three level 

(D) Four level 

 83. MsVkcsl ds vkfdZVsDpj dks ______ds :i 

esa ns[kk tk ldrk gSA 

(A) ,d Lrj 

(B) nks Lrj 

(C) rhu Lrj 

(D) pkj Lrj 

84. Which one of the following refers 
to the total view of the database 
content? 
(A)   Conceptual view 
(B) Physical view 
(C) Internal view 
(D) External view 

 84. fuEufyf[kr eas ls dkSu MsVkcsl lkexzh ds 

dqy n’̀; dks lanfHkZr djrk gS\ 

(A) oSpkfjd nf̀”Vdks.k 

(B) HkkSfrd n’̀; 

(C) vkarfjd n’̀; 

(D) ckgjh n’̀; 

85. The number of attributes in 

relation is called as its: 

(A)   Cardinality 

(B) Degree 

(C) Tuples 

(D) Entity 

 85. laca/k esa xq.kksa dh la[;k dks dgk tkrk gS% 

(A) dkfMZuSfyVh 

(B) fMxzh 

(C) VqiYl 

(D) bdkbZ 

86. The term “SQL” stands for: 

(A)   Standard query language 

(B) Sequential query language 

(C) Structured query language 

(D) Server-side query language 

 86. ‘kCn Þ,lŒ D;wŒ ,yŒß dk vFkZ gS% 

(A) ekud Dosjh Hkk”kk 

(B) vuqØfed Dosjh Hkk”kk 

(C) LVªDpMZ Dosjh ySaXost 

(D) loZj&lkbM Dosjh Hkk”kk 
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87. In SQL the spaces at the end of the 

string are removed by function: 

(A)   Upper 

(B) String 

(C) Trim 

(D) Lower 

 87. ,lD;w,y esa fLVªax ds var esa fjDr LFkku 

QaD’ku }kjk gVk fn, tkrs gSa% 

(A) Åijh 

(B) fLVªax 

(C) fVªe 

(D) fupyk 

88. Which of the following commands 

is used to save any transaction 

permanently into the database? 

(A)   Commit 

(B) Rollback 

(C) Save-point 

(D) None of the above 

 88. MsVkcsl esa fdlh Hkh ysunsu dks LFkk;h :i 

ls lgstus ds fy, fuEu esa ls fdl dekaM 

dk mi;ksx fd;k tkrk gS\ 

(A) Commit 

(B) jksycSd 

(C) IkkWbaV lgstsa 

(D) buesa ls dksbZ Hkh ugha 

89. Create table employee (name 
varchar, id integer) what type of 
statement is this? 
(A)   DML 
(B) DDL 
(C) View 
(D) Integrity constraint 

 89. table employee cuk,¡ (name varchar, 

id integer) ;g fdl izdkj dk dFku gS\ 

(A) DML 

(B) DDL 

(C) View 

(D) v[kaMrk ck/kk 

90. Which one of the following 

command is used to delete the 

existing row in a table? 

(A)   Delete 

(B) Update 

(C) Insert 

(D) None of the above 

 90. fuEufyf[kr esa ls fdl dekaM dk iz;ksx 

fdlh rkfydk esa ekStwnk iafDr dks gVkus ds 

fy, fd;k tkrk gS\ 

(A) feVkuk 

(B) v|ru 

(C) Mkyuk 

(D) buesa ls dksbZ Hkh ugha 
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91. In the relational table, which of the 

following can also be represented 

by the term “attribute”? 

(A)   Entity 

(B) Row 

(C) Column 

(D) Both (B) & (C) 

 91. laca/kijd rkfydk esa] fuEufyf[kr esa ls 

fdls Þfo’ks”krkß ‘kCn }kjk Hkh n’kkZ;k tk 

ldrk gS\ 

(A) daiuh 

(B) iafDr 

(C) dkWye 

(D) (B) vkSj (C) nksuksa 

92. Which one of the following is a 
type of Data Manipulation 
Command? 
(A)   Create 
(B) Alter 
(C) Delete 
(D) All of the above 

 92. fuEufyf[kr eas ls dkSu ,d izdkj dk MsVk 

eSfuiqys’ku dekaM gS\ 

(A)   Create 

(B) Alter 

(C) Delete 

(D) mijksDr lHkh 

93. Rows of a relation are known as 

the ________. 

(A)   Degree 

(B) Tuples 

(C) Entity 

(D) All of the above 

 93. ,d fj’rs dh iafDr;ksa dks ______ ds :i 

esa tkuk tkrk gSA 

(A) fMxzh 

(B) VqiYl 

(C) daiuh 

(D) Åij ds lHkh 

94. Which one of the following is a set 
of one or more attributes taken 
collectively to uniquely identify a 
record? 
(A)   Candidate key 
(B) Sub key 
(C) Super key 
(D) Foreign key 

 94. fuEufyf[kr esa ls dkSu lk ,d fjdkWMZ dh 

fof’k”V igpku ds fy, lkewfgd :i ls fy, 

x, ,d ;k vf/kd fo’k”ksrkvksa dk ,d lewg 

gS \ 

(A)   Candidate key 
(B) Sub key 
(C) Super key 
(D) Foreign key 
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95. The tuples of the relations can be 

of _______ order. 

(A)   Any 

(B) Same 

(C) Sorted 

(D) Constant 

 95. laca/kksa ds VqiYl Øe ds gks ldrs gSaA 

(A) dksbZ Hkh 

(B) ogh 

(C) Øec) 

(D) yxkrkj 

96. To which of the following the term 

“DBA” referred? 

(A)   Data Bank Administrator 

(B) Database Administrator 

(C) Data Administrator 

(D) None of the above 

 96. ÞMh-ch-,-ß ‘kCn fuEufyf[kr esa ls fdlls 

lacaf/kr gS \ 

(A) MkVk cSad iz’kkld 

(B) MsVkcsl iz’kkld 

(C) MsVk iz’kkld 

(D) buesa ls dksbZ Hkh ugha 

97. Which one of the following refers 

to the “data about data”? 

(A)   Directory 

(B) Sub Data 

(C) Warehouse 

(D) Meta Data 

 97. fuEufyf[kr esa ls dkSu ÞMsVk ds ckjs esa MsVkß 

dks lanfHkZr djrk gS \ 

(A) funsZf’kdk 

(B) mi MsVk 

(C) xksnke 

(D) esVk MsVk 

98. A Database Management System 

is a type of _____ Software. 

(A)   It is a type of system software 

(B) It is a kind of application 

software 

(C) It is a kind of general 

software 

(D) Both (A) and (C) 

 98. MsVkcsl eSustesaV flLVe ,d izdkj 

dk_____ lkW¶Vos;j gSA  

(A) ;g ,d izdkj dk flLVe lkW¶Vos;j 

gS 

(B) ;g ,d rjg dk ,Iyhds’ku lkW¶Vos;j 

gS 

(C) ;g ,d rjg dk lkekU; lkW¶Vos;j gS 

(D) (A) vkSj (C) nksuksa 
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99. The term______ is used to refer to 

a row. 

(A)   Attribute 

(B) Tuple 

(C) Field 

(D) Instance 

 99. bl ‘kCn dk iz;ksx ,d iafDr dks lanfHkZr 

djus ds fy, fd;k tkrk gSA 

(A) fo’ks”krk 

(B) Vqiy 

(C) QhYM 

(D) mnkgj.k 

100. A_______ in a table represents a 

relationship among a set of values. 

(A) Column 

(B) Key 

(C) Row 

(D) Entry 

 100. ,d rkfydk esa ewY;ksa ds ,d lsV ds chp 

laca/k dk izfrfuf/kRo djrk gSA 

(A) LrEHk 

(B) dqqath 

(C) iafDr 

(D) izos’k 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 

 


